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QUESTION 1

What effect does natural daylight from a window have on video? 

A. It causes the video to be out of focus. 

B. It causes the picture to have a bluish tint. 

C. It causes the iris to close, which makes images appear dark. 

D. It causes the iris to open, which makes images appear bright 

Correct Answer: BC 

 

QUESTION 2

Videoconference rate of a H.323 IP Call requires the packet examination of which of the following? 

A. Medium Access Control Layer 

B. IP Header 

C. UDP Header 

D. TCP Layer 

E. Packet Payload 

F. Gatekeeper Registration Request 

G. RTP Header 

Correct Answer: E 

 

QUESTION 3

Which of the following refers to Line coding used with the 2-wire, U reference of a Basic Rate Interface? 

A. BRTZ-AMI 

B. HDB3 

C. 2B1Q 

Correct Answer: C 

 

QUESTION 4

High Definition Video connections include which of the following? (select two) 
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A. Three XLR connectors attached to one COAX cable per connector 

B. One DB 25 Connector attached to several COAX cables 

C. Three BNC connectors attached to one COAX cable per connector 

D. Four 3.5mm Mini plugs attached to one COAX cable per connector plug 

E. One DB 15 HD connector attached to three COAX cables 

Correct Answer: CE 

 

QUESTION 5

A mic-level audio signal will measure as: 

A. 10 kiloVolt. 

B. 10 miliVolt. 

C. 10 gigaVolt. 

D. 10 Watt. 

E. 10 Amp. 

Correct Answer: B 

 

QUESTION 6

Which, of the following items, best describes gain? 

A. Increase only to a signal voltage as it passes through a given component 

B. Increase or decrease to a signal voltage as a passes through a given component 

C. Decrease only to a signal voltage as it passes through a given system component 

D. None of the above 

Correct Answer: B 

 

QUESTION 7

Quarter Common Intermediate Format has: 

A. twice the resolution of CIF. 

B. half the number of lines of 4CIF. 

C. four times more resolution than CIF. 
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D. None of the above 

Correct Answer: D 

 

QUESTION 8

E1 trunks are capable of supporting up to: 

A. 6 - 384,000 bit per second connections. 

B. 7 - 384,000 bit per second connections. 

C. 5 - 384,000 bit per second connections. 

D. 4 - 384,000 bit per second connections. 

Correct Answer: C 

 

QUESTION 9

Media Gateways will: 

A. process information for Video File Transfers. 

B. process audio for Multipoint Conferencing. 

C. provide Bearer to Bearer Channel Switching. 

D. provide Bearer Channel termination and Media Stream termination and conversion. 

E. terminate Packet Networks. 

Correct Answer: D 

 

QUESTION 10

Videoconferencing channel synchronous networks may be defined as (Select two of the following options.) 

A. networks capable of speeds up to 2,000,000 bits per second. 

B. networks that can transmit but not receive at the same time. 

C. networks that provide no clocks. 

D. networks that can transmit and receive simultaneously with no clock. 

E. networks that require clocks for transmit and receive. 

Correct Answer: AE 
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QUESTION 11

MCU operation of H.323 Videoconferencing over IP is defined as which two components? 

A. Network Controller and Multipoint Controller 

B. Multipoint Controller and Multipoint Processor 

C. Multipoint Processor and Video Controller 

D. Audio and Video Controller 

E. All of the above 

Correct Answer: B 

 

QUESTION 12

Which of the following are the correct descriptions of B and H0? (Select two of the following options.) 

A. "B-Channel" has 64 kilobits per second of bandwidth 

B. "B-Channel" has 48 kilobits per second of bandwidth 

C. "B-Channel" has 128 kilo bits per second of bandwidth 

D. "H0-Channel" has 1.920 million bits per second of bandwidth 

E. "H0-Channel" has 1.544 million bits per second of bandwidth 

F. "H0-Channel" has 384 kilobits per second of bandwidth 

Correct Answer: AF 

 

QUESTION 13

Public Switched Telephone Company channel network components starting at the customer site and continuing to the
Far-End site are set up as follows: 

A. Station / Interoffice Facilities / Local Exchange Carrier Digital Switch 

B. Station / Local Loop / Interoffice Facilities / Local Exchange Carrier Digital Switch 

C. Station / Interoffice Facilities / Local Loop / Local Exchange Carrier Digital Switch 

D. Station / Local Loop / Local Exchange Carrier Digital Switch / Interoffice Facilities 

Correct Answer: D 

 

QUESTION 14
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Common Intermediate Format is approximately how many pixels per picture? 

A. 25,000 

B. 100,000 

C. 500,000 

D. 100,000,000 

Correct Answer: B 

 

QUESTION 15

High-Definition Videoconferencing will require and use: 

A. the same camera from NTSC and PAL VTC systems 

B. typical off the shelf web camera 

C. high-definition camera 

D. all of the above 

Correct Answer: C 
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